Class 6th fraction test 2
1. What should be added to the sum of the 1/8 and 1/7 so that the sum is 5/14?
2. What should be subtracted from the sum of 1/12 and 1/8 so that the difference is 1/18?
3. Reduce 1562/1846 and 924/1188 in the lowest terms.
4. Which of the following is the largest?
(a) 4/5  (b) 1/2  (c) 5/6  (d) 7/20
5. 221/34 is equivalent to …………….
(a) 13/4  (b) 17/2  (c) 26/4  (d) None of these
6. Mr. Perfect earns Rs 54000 per month. He spends  of his earnings on house rent,  of his earnings on other household items and saves the remaining. What fraction of amount is the saving of his earnings?
(a) 19/45  (b) 17/45  (c) 13/45  (d) 11/25
7. There are 125 balls in the basket. Out of which, 15 are white, 25 are brown, 35 are green, and the remaining are pink in colour. Find the share of the balls for each colour in the basket.
8. A rope of length 21m is cut into equal pieces of 2m each. Find the number of pieces.
9. Priyanka spends 2/15 of her income on clothes, 1/9 of her income on entertainment, 4/15 of her income on rent, 1/3 of the income on food and she saves the remaining amount of Rs10500. What is the income of Priyanka?
10. Three friends A, B and C have some money. If A has 3/10 of the total money, B has 7/15 of the total money and C has 7/30 of the total money. Who has the biggest share of the money? If the total money is Rs1500, then how much money does A have?
